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1. ^yVnyd© A{^ZoÌr gmYZm {edXmgmZr ~m~VÀ`m nwT>rb 
{dYmZm§n¡H$s H$moUVo ~amo~a Zmhr ?
(1) ~mbH$bmH$ma åhUyZ amOH$nyaÀ`m 1955 ‘Yrb "lr 

420' {MÌnQ>mV ^y{‘H$m Ho$br.
(2) ^maVmVrb n{hbm qgYr ^m{fH$ {MÌnQ> "A~mZm'‘Ü`o 

^y{‘H$m
(3) "gmYZm H$Q>' Ho$eaMZo‘wio à{gÕ Pmbr.
(4) à{gÕ JrV "Pw‘H$m {Jam ao ~aobr Ho$ ~Pma ‘| {VÀ`m 

ahñ`‘` amo‘m§MH$ {MÌnQ> "dh H$m¡Z Wr' ‘Yrb Amho.
 � Which one of the following statements is not correct 

about the late actress Sadhana Shivdasani?
(1)	 Acted	as	a	child	artist	in	Raj	Kapoor's	film	'Shree	

420', in 1955.
(2)	 Acted	in	India's	first	Sindhi	language	film	'Abana'.
(3)	 Became	famous	for	the	hair-cut	named	as	'Sadhana	

Cut'.
(4)	 The	 famous	 song	 'Jhumka	 gira	 re	 Bareilly	 ke	

bazaar	mein'	was	in	her	suspense	thriller	film	'Woh	
Kaun	Thi'.	

2. 14/9/2016 amoOr g§K bmoH$ godm Am`moJmMo AÜ`j H$moU 
hmoVo ?
(1) lr S>r. nr. AJ«dmb (2) lr‘Vr aOZr amOXmZ
(3) lr gw~ra XÎm (4) lr XrnH$ Jwám

 � Who was the Chairperson of the Union Public 
Service Commission as on 14/9/2016 ?
(1)	 Mr.	D	P.	Agrawal		 (2)	 Smt.	Rajni	Razdan
(3)	 Mr.	Subir	Datta	 (4)	 Mr.	Deepak	Gupta	

3. nwîn H$‘b Xhb C’©$ àM§S> BVŠ`mV ~mVå`m§‘Ü`o hmoVo. 
Ë`m§À`m~m~V H$m` Iao Zmhr ?
(1) Vo 2008 gmbr ZonmiMo n§VàYmZ ~Zbo.
(2) Ë`m§Mm OÝ‘ H$mer `oWo Pmbm.
(3) Vo H¥${f {df`mMo nXdrYa Amho.
(4) Vo 1980 gmbr ‘mAmodmXr njmMo ga{MQ>Urg ~Zbo. 

 � Pushpa Kamal Dahal alias Prachanda was recently 
in the news. Which is not true about him? 
(1)	 He	became	the	Prime	Minister	of	Nepal	in	2008.
(2)	 He	was	born	in	Kashi
(3)	 He	was	a	graduate	of	Agriculture.
(4)	 He	 became	 the	 secretary	 of	 the	Maoist	 Party	 in	

1980.	

4. "~amH$-8' `m jonUmómMo Img d¡{eîQ>ç H$moUVo ? 
(A) Vo O{‘Zrdê$Z hdoV ‘mam H$aUmao ‘Ü`‘ në`mMo jonUmó 

Amho.
(~) ^maV Am{U BòmB©bZo g§`wº$arË`m {dH${gV Ho$bo. 
(H$) ‘mam H$aÊ`mMm n„m 70 {H$bmo‘rQ>a Amho.
(S>) "~hþH$m`m©Ë‘H$ nmiV' àUmbrda AmYm[aV Amho Am{U 

aS>maÀ`m H$joV `oV Zmhr. 
n¶m©¶r CÎmao :
(1) darbn¡H$s H$moUVohr Zmhr (2) ’$º$ ~
(3) ’$º$ H$ (4) darbn¡H$s gd©

 � What is the speciality of the missile 'Barak-8'?
(a)	 It	is	a	middle	ranged	land-to-air	missile.
(b)	 It	is	developed	by	India	and	Israel	jointly.
(c)	 It	has	a	range	of	70	kilometres.
(d)	 It	is	based	on	multifunctional	surveillance	system	

and	is	out	of	radar	range.
A nswer options :
(1)	 None	of	the	above	 (2)	 Only	b
(3)	 Only	c		 (4)	 All	of	the	above	

5. Imbrb {dYmZo {dMmamV ¿`m :
(A) {PH$m {dfmUy àm‘w»`mZo E{S>g E{Oár S>mgm§‘wio ngaVmo.
(~) {PH$m {dfmUy `wJm§S>mVrb {PH$m O§JbmVyZ Ambm Amho.
(H$) {PH$m {dfmUyMr bmJU JamoXa órH$Sy>Z {VÀ`m ~mimbm 

hmoD$ eH$Vo. 
darbn¡H$s H$moUVo {dYmZo ~amo~a AmhoV ?
(1) ’$º$ A Am{U ~ (2) ’$º$ ~ Am{U H$
(3) ’$º$ A Am{U H$ (4) A, ~ Am{U H$

 � Consider the following statements :
(a)	 Zika	virus	is	spread	by	Aedes	aegypti	mosquitoes.
(b)	 Zika	virus	comes	from	the	Zika	Forest	of	Uganda
(c)	 Zika	 virus	 can	 be	 transmitted	 from	 a	 pregnant	

mother	to	her	baby.
Which of the statements given above are correct ?
(1)		 Only	a	and	b		 (2)		 Only	b	and	c
(3)		 Only	a	and	c		 (4)		 a,	b	and	c	

6. H$monm A‘o[aH$m ’w$Q>~m°b M°pån`Z{en/ñnY}~m~V ̀ mo½` {dYmZo 
AmoiIm :
(A) A°bopŠgg gm§MoP hm JmoëS>Z ~m°b {dOoVm Amho.
(~) ESw>AmS>u ìh°Jm©g hm JmoëS>Z ~yQ> {dOoVm Amho.
(H$) Mmëg© A°aÊJwBP hm JmoëS>Z ½bmoìhO {dOoVm Amho. 
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n¶m©¶r CÎmao :
(1) ’$º$ A Am{U ~ (2) ’$º$ A Am{U H$
(3) ’$º$ ~ Am{U H$ (4) darbn¡H$s H$moUVohr Zmhr

 � Select the correct statements about the Copa 
America Football Championship/ Competition :
(a)	 Alexis	Sanchez	is	a	Golden	Ball	Winner.	
(b)	 Eduardo	Vargas	is	a	Golden	Boot	Winner.	
(c)	 Charles	Aranguiz	is	a	Golden	Gloves	Winner.	
A nswer options :
(1)	 Only	a	and	b	 (2)	 Only	a	and	c
(3)	 Only	b	and	c	 (4)	 None	of	the	above	

7. ZonmiÀ`m Zì`m g§{dYmZmVrb VaVwXr Am{U g§»`m `m§Mr 
OwiUr H$am. 
(A) {dYmZ‘§S>imÀ`m d[að>  (i) 275 
 J¥hmVrb EHy$U OmJm
(~) {dYmZ‘§S>imÀ`m H${Zð>  (ii) 308
 J¥hmVrb EHy$U OmJm
(H$) g§{dYmZmVrb EHy$U H$b‘  (iii) 35
(S>) g§{dYmZmVrb EHy$U {d^mJ  (iv)  59
n¶m©¶r CÎmao :
  (A) (~) (H$) (S>)
(1)		 (iv)	 (i)	 (ii)	 (iii)
(2)		 (ii)	 (iii)	 (iv)	 (i)
(3)		 (i)	 (ii)	 (iii)	 (iv)
(4)		 (iii)	 (iv)	 (i)	 (ii)

 � Match the provisions with figures in the New 
Constitution of Nepal.
(a)	 Total	seats	in	the		 (i)	 275
	 Upper	House	of	
	 Legislature
(b)	 Total	seats	in	the	 (ii)	 308
	 Lower	House	of	Legislature
(c) Total Articles in the (iii) 35
	 Constitution
(d)	 Total	Sections	in	the	 (iv)	 59
	 Constitution	
A nswer options :
  (A) (B) (C) (D)
(1)		 (iv)	 (i)	 (ii)	 (iii)
(2)		 (ii)	 (iii)	 (iv)	 (i)
(3)		 (i)	 (ii)	 (iii)	 (iv)
(4)		 (iii)	 (iv)	 (i)	 (ii)

8. Imbrb {dYmZo {dMmamV ¿`m :
(A) Aa~ brJMr ñWmnZm 22 ‘mM©, 1945 amoOr Pmbr. 
(~) BamH$ hm Aa~ brJMm g§ñWmnH$ gXñ` Amho.
(H$) Zmoìh|~a, 2011 nmgyZ Aa~ brJ‘YyZ gr[a`mMo 

gXñ`Ëd aÔ H$aÊ`mV Ambo Amho.
darbn¡H$s H$moUVo {dYmZo ~amo~a AmhoV ?

(1) ’$º$ A Am{U ~  (2) ’$º$ ~ Am{U H$
(3) ’$º$ A Am{U H$  (4) A, ~ Am{U H$

 � Consider the following statements :
(a)	 Arab	League	was	established	on	22nd March, 1945.
(b)	 Iraq	 was	 one	 of	 the	 founder	 members	 of	 Arab	

League.
(c)	 Syria's	membership	of	the	Arab	League	has	been	

cancelled	November,	2011.
Which of the statements given above are correct?
(1)	 Only	a	and	b		 (2)	 Only	b	and	c
(3)	 Only	a	and	c		 (4)	 a,	b	and	c	

9. OmoS>çm bmdm: 
 "A' (‘§Ìr)   "~' ({d^mJ)
(A) S>r. ìhr. gXmZ§X Jm¡S>m (i) H¥${f Am{U eoVH$ar  

   H$ë`mU
(~) Aê$U OoQ>br (ii) ‘{hbm Am{U  

   ~mb{dH$mg
(H$) lr‘Vr ‘oZH$m Jm§Yr (iii) ‘m{hVr Am{U àgmaU
(S>) amYm ‘mohZ qgh  (iv) H$m`Xm Am{U Ý`m`
n¶m©¶r CÎmao :
  (A) (~) (H$) (S>)
(1) (iv)	 (iii)	 (ii)	 (i)
(2) (iv)		 (iii)	 (i)	 (ii)
(3) (iii)	 (iv)	 (ii)	 (i)
(4) (iii)	 (iv)	 (i)	 (ii) 

 � Match the pairs : 
 'A' (Minister)   'B' (Department)
(a)	 D	V.		Sadananda		 (i)	 Agriculture	and
	 Gowda		 	 Farmers	welfare
(b)	 Arun	Jaitley		 (ii)	 Women	and	Child		

	 	 	 Development
(c)	 Smt.	Maneka		 (iii)	 Information	 and	

Gandhi		 	 Broadcasting
(d)	 Radha	Mohan	Singh		 (iv)	 Law	and	Justice	
A nswer options :
  (A) (B) (C) (D)
(1) (iv)	 (iii)	 (ii)	 (i)
(2)	 (iv)		 (iii)	 (i)	 (ii)
(3)	 (iii)	 (iv)	 (ii)	 (i)
(4)	 (iii)	 (iv)	 (i)	 (ii)	

10. "Q>mB©‘ hm`a EÁ`wHo$eZ dëS>© `w{Zìh{g©Q>r a|H$s¨J' À`m gd}
jUmVrb "gm{dÌr~mB© ’w$bo nwUo {dÚmnrR>m~m~VÀ`m' 
{dYmZm§Mm {dMma H$am : 
(A) OJmVrb gdm}ËH¥$ï> {dÚmnrR>m§À`m H«$‘dmarV 601 do 

ñWmZ.
(~) AÜ`mnZmÀ`m XOm©~m~V OJmV 191 do ñWmZ. H$. 

AÜ`mnZ XOm©‘Ü`o ^maVmV 2 ao ñWmZ. 
darbn¡H$s H$moUVo/Vr {dYmZ/Zo ~amo~a Amho/AmhoV ?
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(1) ’$º$ A  (2) ’$º$ ~ Am{U H$ 
(3) ’$º$ A Am{U ~  (4) darbn¡H$s gd©

 � Consider the statements about 'Savitribai Phule 
Pune University in the survey of Time Higher 
Education World University Ranking':
(a) Rank	601	in	the	order	of	best	universities	in	the	world
(b)	 Rank	191	in	standard	of	teaching	in	the	world
(c)	 Secured	2nd	rank	in	teaching	standard	in	India	
Which of the above statements is/are correct ?
(1)	 Only	a		 (2)	 Only	b	and	c
(3)	 Only	a	and	b		 (4)	 All	of	the	above	

11. 20 E{àb, 2016 amoOr {X„rVrb H$moUVo ‘hËdmMo amï´>r` 
g§J«hmb` ^rfU AmJrV Odinmg Zï> Pmbo ?
(1) Z°eZb å`w{P`‘ Am°’$ Z°Mab {hñQ´r
(2) Z°eZb h°ÊS>byåg å`w{P`‘
(3) Z°eZb Jm§Yr å`w{P`‘
(4) Z°eZb J°bar Am°’$ ‘m°S>Z© AmQ>©

 � Which prominent National Museum situated in 
Delhi was almost completely destroyed by a massive 
fire on 20th April, 2016 ?
(1)	 National	Museum	of	Natural	History
(2)	 National	Handlooms	Museum
(3)	 National	Gandhi	Museum
(4)	 National	Gallery	of	Modern	Art	

12. OmoS>çm bmdm (gm{hË` AH$mX‘r AdmS>©, 2014) : 
    "A'  "~'
(A) A{ídZ ‘ohVm (i) {hÝXr
(~) O`§V ZmairH$a  (ii) C{S>`m
(H$) Jmonmb H¥$îU aW  (iii) ‘amR>r 
(S>) a‘oe M§Ð emh  (iv) JwOamVr
n¶m©¶r CÎmao :
  (A) (~) (H$) (S>)
(1)	 (i)	 (ii)	 (iii)	 (iv)
(2)	 (iv)	 (iii)	 (ii)	 (i)
(3)	 (iv)	 (ii)	 (iii)	 (i)
(4)	 (i)	 (iii)	 (ii)	 (iv)

 � Match the pairs (Sahitya Akademi Awards, 2014) : 
      'A'   'B' 
(a)	 Ashvin	Mehta		 (i)	 Hindi
(b)	 Jayant	Narlikar		 (ii)	 Odia	
(c)	 Gopal	Krishna	Rath		 (iii)	 Marathi	
(d)	 Ramesh	Chandra	Shah		 (iv)	 Gujarati	
A nswer options :
  (A) (B) (C) (D)
(1)	 (i)	 (ii)	 (iii)	 (iv)
(2)	 (iv)	 (iii)	 (ii)	 (i)
(3)	 (iv)	 (ii)	 (iii)	 (i)
(4)	 (i)	 (iii)	 (ii)	 (iv)	

13. "~bwV§' `m AmË‘H$WZm~m~VÀ`m {dYmZm§Mm {dMma H$am : 
(A) X`m ndma `m§Zr Vo ‘amR>rV {b{hbo Amho.
(~) Vo 1978 ‘Ü`o "J«§Wmbr àH$meZm' V’}$ àH$m{eV H$aÊ`mV 

Ambo hmoVo. 
(H$) {hÝXr‘Ü`o "ANw>V' `m ZmdmZo AZwdm{XV H$aÊ`mV Ambo.
(S>) Vo H$ÞS>, ’«|$M Am{U O‘©Z ^mfm§VgwÕm AZwdm{XV 

H$aÊ`mV Ambo Am{U AmVm Ooar qnQ>mo `m§Zr B§J«OrV 
AZwdm{XV Ho$bo Amho.

darbn¡H$s H$moUVr {dYmZo ~amo~a AmhoV ?
(1) ’$º$ A Am{U ~  (2) ’$º$ ~ Am{U H$
(3) ’$º$ A, ~ Am{U S>  (4) darbn¡H$s gd©

 � Consider the statements about 'Baluta', an 
autobiography:
(a)	 It	is	written	by	Daya	Pawar	in	Marathi
(b)	 It	was	published	in	1978	by	Granthali	Publication.	
(c)	 It	was	translated	in	Hindi	bearing	the	title	'Achhut'.
(d)	 It	 was	 also	 translated	 in	 Kannada,	 French	 and	

German	 and	now	has	 been	 translated	 in	English	
by	Jerry	Pinto.	

Which of the above statements are correct?
(1)	 Only	a	and	b		 (2)	 Only	b	and	c
(3)	 Only	a,	b	and	d		 (4)	 All	of	the	above	

14. ^maVmÀ`m H$moUË`m amï´>r`H¥$V ~±Ho$Zo AmYma AmYm[aV E.Q>r.E‘. 
(ATM) À`m dmnamMr gmo` àW‘V: CnbãY Ho$br ?
(1) A°Šgrg ~±H$ 
(2) Am`.gr.Am`.gr.Am`. ~±H$
(3) EM.S>r.E’$.gr. ~±H$  
(4) S>r.gr.~r. ~±H$

 � Which nationalised bank in India first started 
Aadhaar based ATM usage facility ?
(1)	 Axis	Bank		 (2)	 ICICI	Bank
(3)	 HDFC	Bank		 (4)	 DCB	Bank	

15. `mo½` {dYmZ/{dYmZo AmoiIm :
(A) AQ>b noÝeZ `moOZoMr A§‘b~OmdUr 1 OyZ, 2015 

nmgyZ gwê$ Pmbr.
(~) àYmZ‘§Ìr OrdZÁ`moVr {d‘m `moOZoMr A§‘b~OmdUr 1 

Am°JñQ>, 2015 nmgyZ gwê$ Pmbr.
n¶m©¶r CÎmao :
(1) {dYmZ A ~amo~a Amho.
(2) {dYmZ ~ ~amo~a Amho.
(3) XmoÝhr {dYmZo A Am{U ~ ~amo~a AmhoV.
(4) XmoÝhr {dYmZo A Am{U ~ MwH$sMo AmhoV.

 � Select the correct statement/statements :
(a)	 The	Atal	Pension	Yojana	is	implemented	from	1st 

June,	2015.	
(b)	 The	Pradhan	Mantri	Jeevan	Jyoti	Beema	Yojana	is	

implemented	from	1st	August,	2015.	
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A nswer options :
(1)	 Statement	a	is	correct
(2)	 Statement	b	is	correct	
(3)	 Both	the	statements	a	and	bare	correct
(4)	 Both	the	statements	a	and	bare	incorrect	

16. Imbrb {dYmZo {dMmamV ¿`m :
(A) ^maVr` g§{dYmZ g^oMr n{hbr ~¡R>H$ 9 {S>g|~a, 1946 

amoOr nma nS>br.
(~) S>m°. g{ƒXmZ§X {gÝhm ho ^maVr` g§{dYmZ g^oMo AÜ`j 

hmoVo.
(H$) ^maVr` g§{dYmZ g^oZo 26 Zmoìh|~a, 1949 amoOr 

g§{dYmZ ñdrH$mabo.
darbn¡H$s H$moUVo/Vr {dYmZ/Zo ~amo~a Amho/AmhoV ?
(1) ’$º$ A  (2) ’$º$ A Am{U ~ 
(3) ’$º$ ~ Am{U H$  (4) ’$º$ A Am{U H$ 

 � Consider the following statements :
(a)	 The	 First	 Session	 of	 the	 Indian	 Constituent		

Assembly	was	held	on	9th	December,	1946.
(b)	 Dr.	Sachchidanand	Sinha	was	the	President	of	the	

Indian	Constituent	Assembly.
(c)	 Constituent	Assembly	on	26th	November,	1949.
Which of the statements given above is/are correct ?
(1)	 Only	a		 (2)	 Only	a	and	b
(3)	 Only	b	and	c		 (4)	 Only	a	and	c	

17. KQ>H$ amÁ`mÀ`m "‘hm{Ydº$m' nXm~m~V Imbrb {dYmZm§n¡H$s 
H$moUVo ~amo~a Zmhr ?
(1) H$b‘ 165 Zwgma amÁ`mÀ`m ‘hm{Ydº$m nXmMr VaVyX 

Ho$br Amho.
(2) Ë`mÀ`m H$m`©H$mbm~m~V amÁ`KQ>ZoV H$mhr gm§{JVbo Zmhr.
(3) ^maVmÀ`m amï´>nVrZr {Z{íMV Ho$ë`mà‘mUo doVZ, ^Îmo d 

gdbVr {‘iVmV.
(4) amÁ` {dYmZ‘§S>i gXñ`m§Zm {‘iUmao gd© {deofm{YH$ma 

Cn^moJVm `oVmV.
 � Which of the following statements is not correct 

about the office of 'Advocate General of a State ?
(1)	 Article	 165	 provides	 for	 the	 office	 of	 'Advocate	

General	of	a	State.
(2)	 The	Constitution	is	silent	about	the	term	of	office.
(3)	 Gets	emoluments	as	fixed	by	the	President	of	India
(4)	 Enjoys	all	those	privileges	which	are	enjoyed	by	

the	members	of	State	Legislature.	

18. OmoS>çm bmdm (amÁ` ZrVrMr ‘mJ©Xe©H$ VËdo) : 
      "A'      "~'
(A) JmohË`m à{V~§Y  (i) AZwÀN>oX 48
(~) g‘mZ ZmJar H$m`Xm šššš (ii) AZwÀN>oX 40
(H$) amï´>r` ñ‘maH$m§Mo g§ajU (iii) AZwÀN>oX 44
(S>) J«m‘n§Mm`VtMr ñWmnZm (iv) AZwÀN>oX 49 

n¶m©¶r CÎmao :
  (A) (~) (H$) (S>)
(1)	 (i)	 (iii)	 (iv)	 (ii)
(2)	 (i)	 (iii)	 (ii)	 (iv)
(3)	 (ii)	 (iii	 (iv)	 (i)
(4)	 (iii)	 (iv)	 (i)	 (ii)	

 � Match the pairs (Directive Principles of State Policy): 
           'A'  'B'
(a)	 Prohibition	of	Cow	 (i)	 Article	48
	 Slaughter
(b)	 Uniform	Civil	Code		 (ii)	 Article	40
(c)	 Protection	of	National
	 Monuments	 (iii)	 Article	44
(d)	 Organisation	of		 (iv)	 Article	49
	 Village	Panchayats	
A nswer options :
  (A) (B) (C) (D)
(1)	 (i)	 (iii)	 (iv)	 (ii)
(2)	 (i)	 (iii)	 (ii)	 (iv)
(3)	 (ii)	 (iii	 (iv)	 (i)
(4)	 (iii)	 (iv)	 (i)	 (ii)	

19. ^maVr` amÁ`KQ>ZoÀ`m Imbrbn¡H$s H$moUË`m H$b‘mV ghm 
Vo Mm¡Xm d`moJQ>mVrb gd© ‘wbm§gmR>r ‘mo’$V d gº$sÀ`m 
{ejUmMr VaVyX Ho$br Amho ? 
(1) H$b‘ 21 - gr  (2) H$b‘ 21 - E
(3) H$b‘ 51- E  (4) H$b‘ 25 - gr 

 � Which of the following Articles of the Indian 
Constitution provides for free and compulsory 
education for all children aged six to fourteen years?
(1)	 Article	21	-	C		 (2)	 Article	21	-	A
(3)	 Article	51	-	A		 (4)	 Article	25	-	C	

20.  ^maVr` g§{dYmZmÀ`m CÔoen{ÌHo$~m~V Imbrb {dYmZo 
{dMmamV ¿`m :
(A) CÔoen{ÌH$m hm ^maVr` amÁ`KQ>ZoMm ^mJ Amho, na§Vw 

Ý`m`mb`m‘m’©$V Ë`mVrb VaVwXr A‘bmV AmUÊ`mMm 
AmJ«h YaVm `oV Zmhr.

(~) CÔoen{ÌHo$‘Ü`o amÁ`KQ>ZoÀ`m BVa VaVwXtà‘mUo Xwê$ñVr 
H$aVm `oV Zmhr.

darbn¡H$s H$moUVo/Vr {dYmZ/Zo ~amo~a Amho/AmhoV ? 
(1) ’$º$ A (2) A Am{U ~
(3) ’$º$ ~ (4) darbn¡H$s H$moUVohr Zmhr

 � Consider the following statements regarding the 
Preamble of the Indian Constitution :
(a) The	Preamble	of	the	Indian	Constitution	is	a	part	of	

the	Constitution	but	it	is	not	enforceable	by	courts.
(b)	 The	 Preamble	 cannot	 be	 amended	 like	 other	

provisions	of	the	Constitution.
Which of the statements given above is/are correct?
(1)	 Only	a		 (2)	 a	and	b
(3)		 Only	b		 (4)	 None	of	the	above	
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21. 73 ì`m KQ>ZmXwéñVr‘Yrb VaVwXr Am{U H$b‘o `m§Mr OwiUr 
H$am : 
(A) n`m©á A{YH$mam§gh J«m‘g^oMr  (i) 243(~)
 ñWmnZm
(~) J«m‘nmVirda J«m‘n§Mm`VrMr  (ii) 243(S>)
 ñWmnZm H$aUo
(H$) gm‘mÝ`nUo J«m‘n§Mm`VrMm  (iii) 243(A)
 H$m`©H$mi 5 dfmªMm amhrb
(S>) AZwgy{MV Om{V, AZwgy{MV O‘mVr  (iv) 243(B)
 Am{U ‘{hbm§gmR>r AmajU
  (A) (~) (H$) (S>)
(1) (iii)	 (i)	 (iv)		 (ii)
(2) (i)	 (ii)	 (iii)	 (iv)
(3) (iv)	 (iii)	 (ii)	 (i)
(4) (ii)	 (iv) (i) (iii)

 � Match the provisions in the 73 Constitutional 
Amendment with the Articles :
(a)	 To	establish	Gramsabha	with		 (i)	 243(B)
	 sufficient	powers
(b)	 Establishment	of	Village		 (ii)	 243(D)
	 Panchayat	at	village	level
(c)	 Normal	term	of	office	of	Village		 (iii)	243(A)		
	 Panchayat	will	be	of	5	years
(d)	 Reservation	for	Scheduled	Castes,	 (iv)	243(E)	
	 Scheduled	Tribes	and	women	
A nswer options :
  (A) (B) (C) (D)
(1)	 (iii)	 (i)	 (iv)		 (ii)
(2)	 (i)	 (ii)	 (iii)	 (iv)
(3)	 (iv)	 (iii)	 (ii)	 (i)
(4)	 (ii)	 (iv)	 (i)	 (iii)

22. ^maVr` amÁ`KQ>ZoÀ`m gaZmå`m‘Ü`o Imbrbn¡H$s H$emMm 
àW‘ C„oI H$aÊ`mV Ambm Amho ?
(1) ñdmV§Í`  (2) g‘Vm
(3) ~§YwVm   (4) Ý`m` 

 � In the Preamble to the Indian Constitution, what 
among the following is mentioned first? 
(1)	 Liberty		 (2)	 Equality
(3)	 Fraternity		 (4)	 Justice	

23. "^maVr` amÁ`KQ>ZoMo H$b‘ 40 ho H$emer g§~§{YV Amho? 
(1) g‘mZ ZmJar H$m`Xm  
(2) n§Mm`V amO
(3) g‘mZ H$m‘mgmR>r g‘mZ doVZ 
(4) ‘{hbm g~brH$aU

 � Article 40 of the Indian Constitution deals with -
(1)	 Uniform	Civil	Code	
(2)	 Panchayat	Raj
(3)	 Equal	pay	for	equal	work	
(4)	 Women	Empowerment	

24. ‘yb^yV H$V©ì`m§À`m g§X^m©V Imbrb {dYmZo {dMmamV ¿`m:
(A) ‘yb^yV H$V©ì`o ‘yi amÁ`KQ>ZoV g‘m{dï> ZìhVr.
(~) 1976 ‘Ü`o 42 ì`m KQ>ZmXwéñVrÛmao Xhm ‘yb^yV H$V©ì`o 

^maVr` amÁ`KQ>ZoV g‘m{dï> H$aÊ`mV Ambr. 
(H$) ghm Vo Mm¡Xm d`moJQ>mVrb ‘wbm§Zm {ejUmÀ`m 

g§Yr~m~VMo AH$amdo H$V©ì` 86 ì`m KQ>ZmXwéñVrZo 
2002 gmbr g‘m{dï> H$aÊ`mV Ambo.

darbn¡H$s H$moUVo/Vr {dYmZ/Zo ~amo~a Amho/AmhoV ? 
(1) ’$º$ A Am{U ~  (2) ’$º$ ~ Am{U H$
(3) ’$º$ A Am{U H$  (4) A, ~ Am{U H$

 � Consider the following statements regarding 
Fundamental Duties:
(a)	 Fundamental	 Duties	 were	 not	 provided	 in	 the	

original	Constitution.
(b)	 Ten	Fundamental	Duties	were	added	by	 the	42nd 

Amendment	in	1976	to	the	Indian	Constitution.	
(c)	 The	 eleventh	 duty	 relating	 to	 the	 provision	 of	

opportunities	for	education	to	the	children	between	
the	age	of	six	to	fourteen	years	was	added	by	the	
86th	Amendment	2002.

Which of the statements given above are correct?
(1)	 Only	a	and	b		 (2)	 Only	b	and	c
(3)	 Only	a	and	c		 (4)	 a,	b	and	c	

25. "^maVr` amï´>r` H$m‘Jma ‘hmg^m' (Am`.EZ.Q>r.`w.gr.) 
~m~VÀ`m {dYmZm§Mm {dMma H$am :
(A) {VMr ñWmnZm 1947 ‘Ü`o Pmbr.
(~) {VMr ~m§{YbH$s H$m±J«og (Am`) njmer Amho.
(H$) H$m‘Jmam§er g§~§{YV àíZ eŠ`Vmo g‘Ýd`, MMm©, 

dmQ>mKmQ>r Aem em§VVm‘` ‘mJmªZr gmoS>dmdo Aer {VMr 
YmaUm Amho.

darbn¡H$s H$moUVo/Vr {dYmZ/Zo ~amo~a Amho/AmhoV ?
(1) ’$º$ A  (2) ’$º$ A Am{U ~
(3) ’$º$ A Am{U H$  (4) A, ~ Am{U H$

 � Consider the statements about 'Indian National 
Trade Union Congress (INTUC)':
(a)	 It	was	established	in	1947.
(b)	 Its	obligation	is	to	the	Congress	(I).
(c)	 As	far	as	possible,	to	solve	the	problems	relating	to	

workers	with	the	peaceful	means	as-coordination,	
discussion,	negotiation,	is	its	presumption.

Which of the above statements is/are correct?
(1)	 Only	a		 (2)	 Only	a	and	b
(3)	 Only	a	and	c		 (4)	 a,	b	and	c	

26. ‘yie§H$a ho øm§Mo ‘yi Zmd hmoVo 
(1) ñdm‘r {ddoH$mZ§X (2) ñdm‘r am‘H¥$îU na‘h§g
(3) ñdm‘r {ZJ‘mZ§X (4) ñdm‘r X`mZ§X gañdVr 

 � Mula Shankar is the original name of
(1)		 Swami	Vivekananda



"X ¶w{ZH$ A°H°$S>‘r'

128 PSI-STI-ASO-SR/IS - g§¶wº$ nyd© narjm 2023 Vo 2012

(3)		 Swami	Nigamananda	
(2)		 Swami	Ramkrishna	Paramhansa
(4)		 Swami	Dayanand	Saraswati	

27. 1857 H«$m§VrÀ`m H$moUË`m ZoË`mZo Zonmi‘Ü`o Aml` KoVbm ? 
(1) PmerÀ`m amUr bú‘r~mB© (2) ZmZmgmho~
(3) VmË`m Q>mono (4) Hw§$da qgh

 � Who was the leader of the 1857 Revolt who took 
shelter in Nepal ?
(1)	 Queen	of	Jhansi,	Laxmibai
(2)	 Nanasaheb
(3)	 Tatya	Tope		
(4)	 Kunwar	Singh	

28. `mo½` H$m‘{JarMr Omo‹S>r H$am : 
(A) gmd©O{ZH$ ~m§YH$m‘  (i) bm°S>© S>bhm¡gr
 ImVo (PWD) gwê$ Ho$bo
(~) 1857 À`m CR>mdmdoirMm  (ii) bm°S>© {bQ>Z
 JìhZ©a OZab
(H$) ìhZm©Š`wba àog A°ŠQ> nmg Ho$bo (iii) bm°S>© H$m°Z©dm°brg
(S>) ^JdX²JrVoMo B§J«OrV   (iv) bm°S>© H¡$qZJ 
 ^mfm§Va Ho$bo
n¶m©¶r CÎmao :
  (A) (~) (H$) (S>)
(1)	 (iv)		 (ii)	 (iii)	 (i)
(2)	 (i)	 (iv)	 (ii)	 (iii)
(3)	 (iii)	 (i)	 (iv)	 (ii)
(4)	 (ii)	 (iii)	 (i)		 (iv)

 � Match the suitable work:
(a)	 Started	Public	Works		 (i)	 Lord	Dalhousie
	 Department	(PWD)	
(b)	 Governor	General	at	the	 (ii)	 Lord	Lytton
	 time	of	Revolt	of	1857
(c)	 Passed	the	Vernacular		 (iii)	 Lord	Cornwallis
 Press Act
(d)	 Translation	of	the		 (iv)	 Lord	 Canning	

Bhagwad	Gita	into	English
A nswer options :
  (A) (B) (C) (D)
(1)	 (iv)		 (ii)	 (iii)	 (i)
(2)	 (i)	 (iv)	 (ii)	 (iii)
(3)	 (iii)	 (i)	 (iv)	 (ii)
(4)	 (ii)	 (iii)	 (i)		 (iv)

29. H$moUË`m JìhZ©a OZabZo BZm‘ H${‘eZ 1828 bm Zo‘bo?
(1) bm°S>© {d{b`‘ ~|{Q>H$  (2) bm°S>© hopñQ>§½O
(3) bm°S>© doboñbr (4) bm°S>© ‘o`mo

 � The Governor General who appointed Inam 
Commission, 1828 is -
(1) Lord	William	Bentinck	(2)	 Lord	Hastings
(3)	 Lord	Wellesley	 (4)	 Lord	Mayo	

30. 1858 À`m ^maV gaH$ma H$m`XmMm n[aUm‘ emoYm. 
(1) ‘wº$ ì`mnma
(2) H§$nZrÀ`m amOdQ>rMr B{Vlr Pmbr
(3) ‘wº$ Am{U A{Zdm`© àmW{‘H$ {ejU
(4) ñWm{ZH$ ñdamÁ`

 � Find the result of the Government of India Act of 1858.
(1)	 Free	Trade
(2)	 End	of	Company's	rule
(3)	 Compulsory	and	Free	Primary	Education
(4)	 Local	Self-government	

31. dmgwXod ~id§V ’$S>Ho$ `m§Zr Amnë`m ghH$m`mªÀ`m ‘XVrZo 
H$moUË`m Jmdmda n{hbm XamoS>m KmVbm ? 
(1) H$amS>  (2) Xmnmobr (3) Xm¡S>  (4) Ym‘mar

 � With the help of his comrades, Vasudev Balwant 
Phadke raided village for the first time.
(1)	 Karad		 (2)	 Dapoli		 (3)	Dound		 (4)	 Dhamari	

32.  (A) {ó`m§Mr g§»`m OmñV Agboë`m {Oëøm§‘Ü`o ‘w§~B© 
   CnZJa øm {OëømMm H«$‘m§H$ n{hbm AgyZ Ë`m  
     ImbmoImb nwUo, Zm{eH$ Am{U R>mUo Ago {Oëhmdma  
       H«$‘m§H$ AZwH«$‘o AmhoV.
(~) {ó`m§Mr g§»`m H$‘r Agboë`m {Oëøm§‘Ü`o JS>{Mamobr 

{OëømMm H«$‘m§H$ n{hbm AgyZ Ë`m ImbmoImb qhJmobr, 
dm{e‘ d ̂ §S>mam Ago {Oëhmdma H«$‘m§H$ AZwH«$‘o AmhoV.

n¶m©¶r CÎmao :
(1) A Am{U ~ ~amo~a  (2) A ~amo~a ~ MyH$
(3) A MyH$ ~ ~amo~a  (4) A Am{U ~ MyH$

 � (a)	 	 Mumbai	 Suburban	 has	 the	 largest	 number	 of	 
	 	 	 	 women	 population	 followed	 by	 Pune,	 Nashik	 
									and	Thane	districts	respectively. 
(b)	 Gadchiroli	district	has	the	least	number	of	women	

population	 followed	 by	 Hingoli,	 Washim	 and	
Bhandara	districts	respectively.

A nswer options :
(1)	 a	and	b	are	true		 (2)	 a	is	true	b	is	false
(3)	 a	is	false	b	is	true		 (4)	 a	and	b	are	false  

33. ........ `m§Zr ‘mZd Y‘© g^m ñWmnZ Ho$br.
(1) XmXmo~m nm§Sw>a§J  (2) Jmonmi AmJaH$a
(3) ^mD$ ‘hmOZ  (4) {dÇ>b qeXo

 � ....... founded Manav Dharma Sabha
(1)	 Dadoba	Pandurang		 (2)	 Gopal	Agarkar
(3)	 Bhau	Mahajan		 (4)	 Vitthal	Shinde	

34. ............ ho nwUo gmd©O{ZH$ g^oMo gdm©{YH$ ‘hËdnyU© 
g§ñWmnH$ gXñ` hmoVo.
(1) Ho$. Q>r. Vob§J  (2) Eg. E‘. nam§Ono
(3) {dídZmW ‘§S>{bH$  (4) Or. ìhr. Omoer

 � ....... was the most important founder member of the 
Poona Sarvajanik Sabha
(1)	 K.	T.	Telang		 (2)	 S.	M.	Paranjape
(3)	 Vishvanath	Mandlik		 (4)	 G.	V.	Joshi	
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35. "Ý`y B§{S>`m' dV©‘mZnÌ Imbrbn¡H$s {Xboë`m Hw$R>ë`m 
Xoem‘Ü`o gwê$ Ho$bo ?
(1) B§½b§S>   (2) O‘©Zr 
(3) OnmZ  (4) `w.Eg.E.

 � The newspaper 'New India' was started in which of 
the following countries ?
(1)	 England		 (2)	 Germany
(3)	 Japan			 (4)	 USA 

36. Imbrbn¡H$s {dMmad§VmMo gm‘m{OH$ `moJXmZ gm§Jm : 
(A) ga {d{b`‘ doS>a~Z© (i) {~«{Q>e H${‘Q>r Am°’$  

   {X B§{S>`Z Z°eZb H$m±J«og
(~) A°bZ øy‘  (ii) nrnëg ’«|$S>
(H$) ‘°Šg å`yba  (iii) F$½doXmMo B§J«OrV ^mfm§Va   

   Ho$bo
(S>) H$mob~«wH$  (iv) E{e`mQ>rH$ gmogm`Q>rMr 
    ñWmnZm 
n¶m©¶r CÎmao :
  (A) (~) (H$) (S>)
(1)	 (ii)		 (iii)	 (iv)	 (i)
(2)	 (iii)	 (ii)	 (i)		 (iv)
(3)	 (i)		 (ii)		 (iii)	 (iv)
(4)	 (iv)		 (i)	 (ii)	 (iii)

 � Match the following thinkers with their social 
contribution:
(a)	 Sir	William		 (i)	 British	Committee	of	the	

Wedderburn		 	 Indian	National	Congress
(b)		 Alan	Hume		 (ii)	 People's	Friend	
(c)	 Max	Muller		 (iii)	 Translation	of	Rigveda	into	
	 	 	 	 English
(d)	 Colbrook		 (iv)	 Foundation	of	Asiatic	Society
A nswer options :
  (a) (b) (c) (d)
(1)	 (ii)		 (iii)	 (iv)	 (i)
(2)	 (iii)	 (ii)	 (i)		 (iv)
(3)	 (i)		 (ii)		 (iii)	 (iv)
(4)	 (iv)		 (i)	 (ii)	 (iii)

37. Imbrbn¡H$s H$moUË`m n{hë`m g‘mOgwYmaH$m§Zr ‘wbtÀ`m 
{ejUmg CÎmoOZ Am{U àgmamg gwédmV Ho$br ? 
(1) S>m°. ~r. Ama. Am§~oS>H$a (2) ‘hmË‘m ’w$bo
(3) JmoXwVmB© H$d} (4) {dÇ>bXmg R>mH$agr

 � Which of the following social reformers first started 
the encouragement and spread of girl's education ?
(1)	 Dr.	B.	R.	Ambedkar	 (2)	 Mahatma	Phule
(3)	 Godutai	Karve	 (4)	 Vitthaldas	Thakersey	

38. ~m°å~o Agmo{gEeZMo gÝ‘mZr` AÜ`j åhUyZ ....... øm§Mr 
{ZdS> Ho$br hmoVr.
(1) ga O‘eoXOr OrOr^mB© (2) XmXm^mB© Zm¡amoOr
(3) S>m°. AmË‘mam‘ nm§Sw>a§J (4) Jmo. J. AmJaH$a

 � ........ was elected as the honourary President of the 
Bombay Association. 
(1)	 Sir	Jamshedji	Jijibhai			
(2)	 Dadabhai	Naoroji	
(3)		 Dr.	Atmaram	Pandurang	
(4)		 G.	G.	Agarkar	

39. ^maV N>moS>mo MidirV ....... ̀ m§Zr gmVmam ̀ oWo g‘m§Va gaH$ma 
ñWmnZ Ho$bo.
(1) ZaXod emór  (2) C‘mOr ZmB©H$
(3) ZmZm nmQ>rb  (4) JUnVamd H$Wbo 

 � ............ established parallel government in Satara 
during the Quit India Movement.
(1)	 Nardev	Shastri		 (2)	 Umaji	Naik
(3)	 Nana	Patil		 (4)	 Ganpatrao	Kathle	

40. ^maVr` amï´>r` H$m±J«ogÀ`m ‘dmi ZoË`m§bm AmoiIm. 
(1) amOJwê$  (2) {~{nZM§Ð nmb
(3) {XZem° dmÀN>m  (4) ‘moVrbmb Zohê$ 

 � Identify the moderate leader of the Indian National 
Congress.
(1)	 Rajguru		 (2)	 Bipinchandra	Pal
(3)	 Dinshaw	Wachha	 (4)	 Motilal	Nehru	

41. Imcrc OmoS>çm cmdm : 
{Oëhm    ór-nwéf à‘mU (Sex-Ratio) 
    (2011 OZJUZoZwgma) 
(A) Zm{eH$  (i) 1036
(~) M§Ðnya  (ii) 1122
(H$) aËZm{Jar  (iii) 934
(S>) qgYwXwJ© (iv) 961
n¶m©¶r CÎmao :
  (A) (~) (H$) (S>)
(1)	 (iii)	 (ii)	 (i)	 (iv)
(2)	 (iv)	 (iii)	 (ii)		 (i)
(3)	 (iii)	 (iv)		 (ii)	 (i)
(4)	 (i)		 (ii)	 (iii)	 (iv)

 � Match the following: 
 District   Sex-Ratio
    (As per 2011 Census)
(a)	 Nasik		 (i)	 1036		
(b)	 Chandrapur	 (ii)	 1122	
(c)	 Ratnagiri		 (jjj)	 934
(d)	 Sindhudurg		 (iv)	 961	
A nswer options :
  (A) (B) (C) (D)
(1)	 (iii)	 (ii)	 (i)	 (iv)
(2)	 (iv)	 (iii)	 (ii)		 (i)
(3)	 (iii)	 (iv)		 (ii)	 (i)
(4)	 (i)		 (ii)	 (iii)	 (iv)

42. Imbrb {dYmZo nhm:
(A) H$bH$Ë`mOdi [alm `oWo n{hbr VmJ CÚmoJ 1861 

‘Ü`o gwê$ Pmbr.
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(~) {d‘mZ dmhVyH$ CÚmoJmMr gwê$dmV ~|Jbmoa `oWo 1940 
‘Ü`o Pmbr, Ë`mZ§Va hm CÚmoJ qhXwñWmZ EamoZm°{Q>Šg 
{b{‘Q>oS> `m H§$nZrH$S>o hñVm§V[aV H$aÊ`mV Ambm. 

(H$) ^maVmVrb n{hbm AmYw{ZH$ bmoh-nmobmX CÚmoJ n{íM‘ 
~§Jmb‘Yrb XwJm©nya `oWo gwê$ H$aÊ`mV Ambm. 

(S>) ^maVmVrb n{hbm Iv CÚmoJ PmaI§S> amÁ`mVrb YZ~mX 
{Oëh`mV qgÐr `oWo gwê$ H$aÊ`mV Ambm.

n¶m©¶r CÎmao :
(1) ’$º$ {dYmZ A ~amo~a Amho
(2) ’$º$ {dYmZ ~ ~amo~a Amho
(3) ’$º$ {dYmZo ~ Am{U S> ~amo~a AmhoV
(4) darb gd© {dYmZo ~amo~a AmhoV

 � Observe the following statements :
(a)	 First	Jute	Industry	in	Rishra	near	Kolkatta	started	

in	1861.
(b)	 Air	 Transport	 Industry	 started	 in	 1940	 at	

Bangalore,	 then	 this	 industry	 is	 transferred	 to	
Hindustan	Aeronautics	Ltd,	company.	

(c)	 First	 modern	 Iron	 and	 Steel	 Industry	 in	 India	
started	at	Durgapur	in	West	Bengal.	

(d)	 First	Fertilizer	Industry	in	India	started	at	Sindri	in	
Dhanbad	district	of	Jharkhand	

A nswer options :
(1)	 Only	statement	a	is	correct	
(2)	 Only	statement	b	is	correct	
(3)	 Only	statements	b	and	d	are	correct	
(4)	 All	the	above	statements	are	correct	

43. Imbrbn¡H$s H$moUVm CÚmoJ Wi-dm`eoV `oWo Amho ?
(1) H$mM{Z{‘©Vr  (2) ‘moQ>ma
(3) H$mJX   (4) IV 

 � Which of the following industries is at Thal-Vaishet?
(1)	 Glass	manufacturing	 (2)	 Automobile
(3)	 Paper		 (4)	 Fertilizer 

44. Imbrb OmoS>çm bmdm : 
 {Oëhm   ‘mgo‘mar H|$Ð 
(A) ‘w§~B©   (i) lrdY©Z 
(~) R>mUo   (ii) d|Jwbm© 
(H$) am`JS>  (iii) dgm}dm 
(S>) aËZm{Jar  (iv) gmVnmQ>r 
n¶m©¶r CÎmao :
  (A) (~) (µH$) (S>)
(1)	 (i)	 (ii)	 (iii)	 (iv)
(2)	 (iv)	 (i)	 (ii)	 (iii)
(3) (iii)	 (iv)	 (i)	 (ii)
(4)	 (ii)	 (iii)	 (iv)	 (i)

 � Match the following :' 
 District   Fishing Centre 
(a)	 Mumbai		 (i)	 Shrivardhan	
(b)	 Thane		 (ii)	 Vengurla	

(c)	 Raigad		 (iii)	 Versova
(d)	 Ratnagiri		 (iv)	 Satpati
A nswer options :
  (A) (B) (C) (D)
(1)	 (i)	 (ii)	 (iii)	 (iv)
(2)	 (iv)	 (i)	 (ii)	 (iii)
(3)	 (iii)	 (iv)	 (i)	 (ii)
(4)	 (ii)	 (iii)	 (iv)	 (i)

45. 2011 À`m OZJUZoZwgma ^maVmVrb Imbrb amÁ`m§Mm H$‘r 
Vo Cƒ bmoH$g§»`oÀ`m KZVoZwgma `mo½` H«$‘ bmdm : 
(A) Oå‘y Am{U H$mí‘ra (~) ZmJmb±S> 
(H$)  {g¸$s‘  (S>) {‘Pmoam‘ 
n¶m©¶r CÎmao :
(1) S>, ~, A, H$  (2) ~, H$ A, S> 
(3) A, S>, ~, H$  (4) S>, A, H$,~ 

 � Arrange the following states of India from low to high 
density of population correctly as per 2011 Census :
(a)	 Jammu	and	Kashmir		 (b)	 Nagaland	
(c)	 Sikkim		 (d)	 Mizoram	
A nswer options :
(1)		 d,	b,	a,	c	 (2)	 b,	c,	a,	d	
(3)	 a,	d,	b,	c		 (4)	 d,	a,	c,	b	

46. Imbrbn¡H$s H$moUVr ZXr qdÜ`nd©VmÀ`m npíM‘ ^mJmV CJ‘ 
nmdVo Am{U X{jUoH$S>o I§^m`VÀ`m AmImVmg {‘iVo ? 
(1) bwZr   (2) gm~a‘Vr 
(3) Vmnr  (4)  ‘hr 

 � Which one of the following rivers originates in the 
west side of Vindhya Mountains and joins the Gulf 
of Khambayat in the south ? 
(1)	 Luni		 	 (2)	 Sabarmati	
(3) Tapi  (4) Mahi 

47. Imbrbn¡H$s H$moUË`m {OëømV OZJUZm 2011 Zwgma gdm©V 
H$‘r ~mb-qbJJwUmoÎma hmoVo ? 
(1) Ah‘XZJa  (2) H$moëhmnya 
(3) dm{e‘  (4) OiJmd 

 � Which of the following districts had the lowest child 
sex-ratio in 2011 Census ? 
(1)	 Ahmadnagar		 (2)	 Kolhapur	
(3)	 Washim		 (4)	 Jalgaon	

48.  ^maVmV "Ob-‘Zwî`' (Water man) åhUyZ H$moUmg 
AmoiIbo OmVo ? 
(1) ‘mYdamd {MVio  (2) ‘oYm nmQ>H$a 
(3) gw§Xabmb ~hþJwUm  (4) amO|Ð qgh 

 � Who is popularly known as 'Water man' in India? 
(1)	 Madhavrao	Chitale	 (2)	 Medha	Patkar	
(3)	 Sundarlal	Bahuguna		 (4)	 Rajendra	Singh	

49.  Imbrb OmoS>çm bmdm : 
 IS>H$m§Mm àH$ma        {Oëho 
(A) Am{H©$`Z loUrMo IS>H$ (i) nyd© ZmJnya, ^§S>mam, 
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    Jm|Xr`m, H$moëhmnya 
(~) YmadmS> loUrMo IS>H$ (ii) `dV‘mi, 
    JS>{Mamobr, A‘amdVr 
(H$) qdÜ` loUrMo IS>H$  (iii) Zm§XoS>, qgYyXwJ© 
(S>) Jm|S>dZm loUrMo IS>H$ (iv) M§Ðnya
n¶m©¶r CÎmao :
  (A) (~) (H$) (S>)
(1)	 (ii)	 (i)	 (iii)	 (iv)
(2)	 (i)	 (iii)	 (ii)	 (iv)
(3)	 (iii)	 (i)	 (iv)	 (ii)
(4)	 (iv)	 (ii)	 (i)	 (iii)

 � Match the following: 
 Rock Type   Districts East 
(a)	 Archean	Rock	System		 (i)	 Nagpur,	Bhandara,	
	 	 	 	 Gondia,	Kolhapur	
(b)	 Dharwad	Rock	System	 (ii)	 Yavatmal,	
	 	 	 	 Gadchiroli,	
	 	 	 	 Amravati
(c)	 Vindhyan	Rock	System	 (iii)	 Nanded,	
	 	 	 	 Sindhudurg	
(d)	 Gondwana	Rock	System	 (iv)	 Chandrapur	
A nswer options :
  (A) (B) (C) (D)
(1)	 (ii)	 (i)	 (iii)	 (iv)
(2)	 (i)	 (iii)	 (ii)	 (iv)
(3)	 (iii)	 (i)	 (iv)	 (ii)
(4)	 (iv)	 (ii)	 (i)	 (iii)

50. Imbrb OmoS>çm Owidm : 
   ehao     H$m`© 
(A) nwUo, ‘w§~B©  (i) CÚmoJY§Xo 
(~) ‘Z‘mS>, ZmJnya  (ii) ì`mnma/~mOmanoR> 
(H$) dmaUmZJa, àdamZJa (iii) àemgH$s` 
(S>) gm§Jbr, {Z’$mS> (iv)	 dmhVyH$ 
  (A) (~) (H$) (S>)
(1)	 (iii)	 (iv)	 (i)	 (ii)
(2)	 (iii)	 (i)	 (iv)	 (ii)	
(3)	 (ii)	 (iii)	 (i)	 (iv)
(4)	 (iv)	 (iii)	 (i)	 (ii)

 � Match the following: 
 Cities   Functions 
(a)	 Pune,	Mumbai		 (i)	 Industries	
(b)	 Manmad,	Nagpur		 (ii)	 Trade	Market
(c)	 Warnanagar,	Pravaranagar	 (iii)	 Administrative	
(d)	 Sangli,	Niphad		 (iv)	 Transportation	
A nswer options :
  (A) (B) (C) (D)
(1)	 (iii)	 (iv)	 (i)	 (ii)
(2)	 (iii)	 (i)	 (iv)	 (ii)	
(3)	 (ii)	 (iii)	 (i)	 (iv)
(4)	 (iv)	 (iii)	 (i)	 (ii)

51. gZ 2013-14 Zwgma ‘hmamï´>mVrb à‘wI I{ZO CËnmXZm§Mm 
CVaVm H«$‘ {bhm. 
(1) H$moigm, AewÕ bmoh, ~m°ŠgmBQ>, MwZIS>r 
(2) H$moigm, ~m°ŠgmBQ>, MwZIS>r, AewÕ bmoh 
(3) H$moigm, MwZIS>r, AewÕ bmoh, ~m°ŠgmBQ> 
(4) AewÕ bmoh, H$moigm, MwZIS>r, ~m°ŠgmBQ> 

 � Write the descending order of Maharashtra's 
Mineral Production according to year 2013-14. 
(1)	 Coal,	Iron	ore,	Bauxite,	Limestone	
(2)	 Coal,	Bauxite,	Limestone,	Iron	ore	
(3)	 Coal,	Limestone,	Iron	ore,	Bauxite	
(4)	 Iron	ore,	Coal,	Limestone,	Bauxite	

52. ......... Am§~mobr Am{U BJVnwar ̀ oWo H$moUË`m àH$maMo AaÊ` 
AmT>iVo ? 
(1) CîU H${Q>~§Yr` {Z‘h[aV AaÊ` 
(2) CîU H${Q>~§Yr` gXmh[aV AmÐ© AaÊ` 
(3) CîU H${Q>~§Yr` AmÐ© nmZPS>r AaÊ` 
(4) CîU H${Q>~§Yr` ewîH$ nmZPS>r AaÊ` 

 � What type of forest is found in Amboli and Igatpuri? 
(1)	 Tropical	semi-evergreen	forest	
(2)	 Tropical	wet-evergreen	forest	
(3)	 Tropical	moist-deciduous	forest	
(4)	 Tropical	dry-deciduous	forest	

53.  Vmnr Imoè`mVrb hdm‘mZ H$moUË`m àH$maMo Amho ? 
(1) {H$ZmanÅ>rMo Am{U nd©Vr` hdm‘mZmMo g§{‘lU 
(2) nR>mar A§V^m©JmVrb Am{U nd©Vr` hdm‘mZmMo g§{‘lU 
(3) {H$ZmanÅ>rMo Am{U nR>mar A§V^m©JmVrb hdm‘mZmMo g§{‘lU 
(4) ’$º$ nR>mar A§V^m©JmVrb hdm‘mZ 

 � What is the type of climate in Tapi valley? 
(1)	 Transitional	between	the	climate	of	coastal	plains	

and	mountainous	
(2)	 Transitional	 between	 the	 climate	 of	 interior	

plateau	and	mountainous	
(3)	 Transitional	between	the	climate	of	coastal	plains	

and	interior	plateau
(4)	 Interior	plateau	climate	only	

54.  Imbrb YaU àH$ënm§Mm H«$‘ Ë`m§À`m Agboë`m X.b.K.‘r. 
j‘Voà‘mUo MT>Ë`m H«$‘mZo bmdm : 
(A) dmaUm  (~) ^mQ>Ka (H$)  Om`H$dmS>r
(S>) n|M VmoVbmS>moh  (B) ^§S>maXam 
n¶m©¶r CÎmao :
(1) B, ~, A, H$, S> (2) ~, B, A, S>, H$ 
(3) H$, S>, A, ~, B  (4) B, ~, A, S>, H$ 

 � Rearrange the following dam projects as per their 
TMC capacity in ascending order :
(a)	 Varna		 (b)	 Bhatgharc
(c)	 Jayakwadi		 (d)	 Pench	Totladoh	
(e) Bhandardara 
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A nswer options :
(1)	 e,	b,	a,	c,	d		 (2)	 b,	e,	a,	d,	c	
(3)	 c,	d,	a,	b,	e		 (4)	 e,	b,	a,	d,	c	

55. ZXrMo Imoao AmoiIm. 
(A) ‘Ü` àXoemVrb ~¡Vyb {OëømV CJ‘. 
(~) {VÀ`m nyd}H$S>o dmhUmè`m nyUm© ZXrnmgyZ doJio H$aUmam 

VH$bmXy Ob{d^mOH$ Amho. 
(H$) do‘bm, {ZJwS>m, ~moa Am{U Z§X øm H$mhr CnZÚm. 
(S>) dYm©-A‘amdVr Am{U `dV‘mi {Oëøm§Vrb gahX 

{Z‘m©U H$aVo. 
n¶m©¶r CÎmao :
(1) àmU{hVm  (2) d¡ZJ§Jm 
(3) n¡ZJ§Jm  (4) dYm© 

 � Identify the River Basin. 
(a)	 Has	 its	 origin	 in	 the	 Betul	 District	 of	 Madhya	

Pradesh. 
(b)	 A	small	water	divide	separates	it	from	the	Purna	

flowing	to	its	east.	
(c)	 Vemala,	 Niguda,	 Bor	 and	 Nand	 are	 some	 of	 its	

distributaries.	
(d)		 It	 forms	 the	 boundary	 for	 the	Wardha-Amravati	

and	Yeotmal	districts.	
A nswer options :
(1)	 Pranhita		 (2)	 Wainganga	
(3)	 Painganga		 (4)	 Wardha 

56.  amï´>r` CËnÞmÀ`m d¥Õr g§X^m©Vrb n§Mdm{f©H$ `moOZm {Zhm` 
Aä`mg àmJ{VH$ H$b Xe©{dVmo. Ago Agbo Var n{hë`m 
Mma `moOZm§‘Yrb hm d¥Õr Xa ‘`m©{XV am{hë`mMo AmT>iVo, 
àmJ{VH$ H$b hm Z§VaÀ`m Q>ßß`mV {Xgy bmJbm. H$moUË`m 
n§Mdm{f©H$ `moOZoÀ`m eodQ>r amï´>r` CËnÞmMm d¥Õr Xa 7.5 
Q>¸o$ EdT>m CƒV‘ am{hbm ? 
(A) nmMdr `moOZm  (~) gmVdr `moOZm 
(H$) Zddr `moOZm  (S>) Xhmdr `moOZm
n¶m©¶r CÎmao :
(1) ’$º$ A  (2) ’$º$ ~ Am{U H$ 
(3) ’$º$ H$  (4) ’$º$ S> 

 � Five Year planwise study of growth of National 
Income indicates a progressive trend Though it 
witnessed a modest growth rate during the first four 
plans, a progressive trend appeared at a later stage 
and the growth rate stood high at 7.5% per annum 
by the end of which Five Year plans? 
(a)	 Fifth	Plan		 (b)	 Seventh	Plan	
(c)	 Ninth	Plan		 (d)	 Tenth	Plan	
A nswer options :
(1)	 Only	a		 (2)	 Only	b	and	c	
(3)	 Only	c		 (4)	 Only	d	

57. ^maVmVrb H$moUË`m Zm‘m§{H$V bmoH$g§»`m{df`H$ VÁkmZo 
A{Ve` naIS>nUo Ago ‘V ‘m§S>bo Amho H$s, Hw$Qw>§~ 

{Z`moOZm{df`r ‘V^oX ì`º$ H$aUo gmono Amho, na§Vw `m 
H$m`©H«$‘mMr àË`j A§‘b~OmdUr AZoH$ àH$maÀ`m 
AS>Wù¶m§Zr `wº$ Amho ? 
(1) ìhr. E‘. Xm§S>oH$a (2) ‘mëWg 
(3) Eg. S>r. V|Sy>bH$a (4) Eg. M§ÐeoIa 

 � Which leading Indian demographer has very aptly 
remarked that it is easy to argue in favour of family 
planning programme but is fraught with all kinds 
of difficulties? 
(1)	 V.	M.	Dandekar	 (2)	 Malthus	
(3)	 S.	D	Tendulkar	 (4)	 S.	Chandrashekhar	

58. 2011 À`m OZJUZoZwgma ^maVmMr bmoH$g§»`m hmoVr 
(1) 115 H$moQ>r  (2) 121 H$moQ>r 
(3) 130 H$moQ>r  (4) 125 H$moQ>r 

 � The population of India as per the Census 2011 was 
(1) 115 crores  (2) 121 crores
(3) 130 crores  (4)  125 crores 

59. ^maVr` amÁ`KQ>ZoZwgma AgUmam H$m‘mMm A{YH$ma' Imbrb- 
n¡H$s H$moUË`m `moOZoV n{hë`m§Xm {dMmamV KoÊ`mV Ambm? 
(1) amï´>r` J«m‘rU amoOJma H$m`©H«$‘ (NREP)	
(2) g‘pÝdV J«m‘rU {dH$mg H$m`©H«$‘ (IRDP) 
(3) Odmha amoOJma `moOZm (JRY) 
(4) amoOJma h‘r `moOZm (EGS)	

 � Which of the following schemes, first considered the 
'Right to Work', according to the Constitution of 
India ? 
(1)	 National	Rural	Employment	Programme	(NREP)	
(2)	 Integrated	Rural	Development	Programme	(IRDP)	
(3)	 Jawahar	Rojgar	Yojana	(JRY)	
(4)	 Employment	Guarantee	Scheme	(EGS)	

60.  2011-12 ‘Ü`o ̂ maVmÀ`m EHy$U {Z`m©VrV eoVrÀ`m {Z`m©VrMm 
dmQ>m {H$Vr hmoVm ? 
(1) 14-2%  (2) 12.81% 
(3) 10.59%  (4) 9.7% 

 � What was the share of agricultural export in total 
export of India during 2011-12? 
(1)	 14-2	%		 (2)	 12.81	%	
(3)	 10.59	%	 (4)	 9.7	%	

61. Imbrb OmoS>çm bmdm : 
  gyMr A   gyMr ~ ššš 
(A) {ndir H«$mÝVr  (i) AÞYmÝ` 
(~) {Zir H«$mÝVr (ii) Vob {~`mUo 
(H$) ídoV H«$mÝVr (iii) XyY CËnmXZ 
(S>) h[aV H«$mÝVr  (iv)	 ‘mñ`m§Mo CËnmXZ
n¶m©¶r CÎmao :
  (A) (~) (H$) (S>)
(1)	 (ii)	 (iv)	 (iii)	 (i)
(2)	 (ii)	 (iii)	 (iv)	 (i)
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(3	 (iv)	 (iii)	 (i)	 (ii)
(4)		 (iv)	 (i)	 (iii)	 (ii)

 � Match the following: 
 List A   List B 
(a)	 Yellow	Revolution		 (i)	 Food	Crops	
(b)	 Blue	Revolution		 (ii)	 Oil	Seeds	
(c)	 White	Revolution	 (iii)	 Milk	Production	
(d)	 Green	Revolution		 (iv)	 Fish	Production	
A nswer options :
  (A) (B) (C) (D)
(1)	 (ii)	 (iv)	 (iii)	 (i)
(2)	 (ii)	 (iii)	 (iv)	 (i)
(3	 (iv)	 (iii)	 (i)	 (ii)
(4)		 (iv)	 (i)	 (iii)	 (ii)

62. 1990 À`m XeH$mV CÚmoJjoÌmÀ`m Ag‘mYmZH$maH$ 
à{VgmXmÀ`m g§X^m©V Imbrbn¡H$s H$moUVo à‘wI H$maU Zmhr? 
(A) Jw§VdUwH$s‘Yrc KgaU 
(~) ~mø ñnY}Vrb Agwa{jVVm 
(H$) CÚmoJ joÌmH$[aVm Omhra Ho$boë`m ‘moR>çm à‘mUmdarb 

CXmarH$aUmer g§~§{YV Cnm``moOZm 
(S>) {Z`m©V d¥ÕrMm ‘§Xmdbobm Xa 
n¶m©¶r CÎmao :
(1) ’$º$ ~  (2) ’$º$ A Am{U S> 
(3) ’$º$ H$  (4) ’$º$ A 

 � Which of the following is not a main cause for 
unsatisfactory industrial performance during the 
period of 1990s? 
(a)	 Slowdown	in	investment	
(b)	 Exposure	to	external	competition	
(c)	 Massive	 liberalisation	 measures	 announced	 for	

the	industrial	sector	
(d)	 Sluggish	growth	in	exports	
A nswer options :
(1)	 Only	b		 (2)	 Only	a	and	d	
(3)	 Only	c	 (4)	 Only	a	

63. eoVH$è`m§Zm XrK© ‘wXVrMo H$O© ...........H$mbmdYrgmR>r bmJVo. 
(1) 5 dfmªgmR>r  (2) 5 dfmªnojm A{YH$ 
(3) 15 ‘{hZo - 5 df}  (4) 6 dfm©nojm H$‘r 

 � The farmers require long term loans for the period 
(1)	 of	5	years	
(2)	 more	than	5	years	
(3)	 between	15	months	to	5	years	
(4)	 less	than	5	years	

64. ^maVmÀ`m H|$Ðr` ~±Ho$bm '[aPìh© ~±H$' H$m åhUVmV ? 
(1) Vr gd© AZwgy{MV ~±H$m§Mm amoI aH$‘oMm gmR>m gm§^miVo. 
(2) Vr gd©loð> ‘m¡{ÐH$ Am{U ~±qH$J A{YH$m[aVm Amho. 
(3) Vr XoemÀ`m ~±H$ì`dñWoMo {Z`§ÌU H$aVo. 
(4) Vr ~¢H$m§Mr ~±H$ Amho. 

 � Why is the central bank of India known as 'Reserve 
Bank? 
(1)	 It	keeps	the	cash	reserve	of	all	scheduled	banks.	
(2)	 It	is	a	supreme	monetary	and	banking	authority.	
(3)	 It	controls	the	banking	system	of	the	country.	
(4)	 It	is	the	bank	of	banks.	

65. Ho$Ýg `m§À`mZwgma, n¡emMr ‘mJUr `m hoVygmR>r AgVo : 
(A) ì`dhma hoVy  (~) XjVm hoVy 
(H$) gÅ>o~mOrMm hoVy (S>) darbn¡H$s gd© 
darbn¡H$s H$moUVo/Vr {dYmZ{Z ~amo~a Amho/AmhoV ? 
(1) ’$º$ A  (2) ’$º$ A Am{U H$ 
(3) ’$º$ ~ Am{U H$  (4) ’$º$ S> 

 � According to Keynes, the demand of money is for 
the following motives : 
(a)	 Transaction	motive		 (b)	 Precautionary	motive	
(c)	 Speculative	motive		 (d)	 All	of	the	above	
Which of the statements given above is/are correct? 
(1)	 Only	a		 (2)	 Only	a	and	c	
(3)	 Only	b	and	c		 (4)	 Only	d	

66. AàË`j H$am~m~V Imbrbn¡H$s H$moUVo {dYmZo ~amo~a AmhoV? 
(A) AàË`j H$amMm H$amKmV Am{U H$a^ma EH$mM ì`º$sda 

nS>Vmo. 
(~) AàË`j H$amÀ`m ~m~VrV H$a^ma BVam§da T>H$bVm `oV 

Zmhr. 
(H$) AàË`j H$amÀ`m ~m~VrV H$a^ma BVam§da T>H$bVm `oVmo. 
(S>) AàË`j H$amMm H$amKmV EH$m ì`º$sda Am{U H$a^ma 

Xwgè`m ì`º$sda nS>Vmo. 
n¶m©¶r CÎmao :
(1) ’$º$ A Am{U ~  (2) ’$º$ A Am{U H$ 
(3) ’$º$ H$ Am{U S>  (4) darbn¡H$s H$moUVohr Zmhr 

 � Which of the following statements are correct about 
the indirect tax ? 
(a)		 The	impact	and	the	incidence	of	the	indirect	tax	is	

on	a	single	individual.	
(b)	 The	incidence	of	indirect	tax	cannot	be	shifted	on	

others. 
(c)	 The	 incidence	 of	 indirect	 tax	 can	 be	 shifted	 on	

others. 
(d)	 The	impact	of	indirect	tax	is	on	one	individual	and	

the	incidence	of	indirect	tax	is	on	other	individual.	
A nswer options :
(1)	 Only	a	and	b	 (2)	 Only	a	and	c
(3)	 Only	c	and	d	
(4)	 Only	a	and	c	None	of	the	above	

67.  ^maVmV {dXoer àË`j Jw§VdUwH$sV (F.D.I) gdm©V OmñV ‘w»` 
ómoV `m XoemMm Amho 
(1) ‘m°[aeg  (2) OnmZ 
(3) qgJmnya  (4) O‘©Zr 
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 � Which country is the main source in Indian Foreign 
Direct Investment (F.D.I)? 
(1)	 Mauritius		 (2)	 Japan	
(3)	 Singapore		 (4)	 Germany	

68. {dÎm Am`moJmÀ`m g§X^m©V Imbrb {dYmZo {dMmamV ¿`m : 
(A) ^maVr` amÁ`KQ>ZoÀ`m 280 ì`m H$b‘mZwgma {dÎm 

Am`moJmMr ñWmnZm Ho$br. 
(~) 14 ì`m {dÎm Am`moJmMo AÜ`j S>m°. dm`. ìhr. aoÈ>r Amho. 
darbn¡H$s H$moUVo/Vr {dYmZ/Z ~amo~a Amho/AmhoV ? 
(1) ’$º$ A  (2) ’$º$ ~ 
(3) A Am{U ~  (4) darbn¡H$s H$moUVohr Zmhr 

 � Following statements are to be considered with 
regard to the Finance Commission: 
(a)	 The	 Finance	 Commission	 is	 established	 under	

Article	280	of	the	Indian	Constitution,
(b)	 Dr.	Y.	V.	Reddy	is	 the	President	of	14th	Finance	

Commission	
Which of the statements given above is/are correct ? 
(1)	 Only	a		 (2)	 Only	b	
(3)	 a	and	b		 (4)	 None	of	the	above	

69.  13 ì`m {dÎm Am`moJmZwgma H$moUË`m amÁ`mbm H|$Ðr` H$a, 
ewëH$ Am{U AZwXmZ `mVrb gdm©{YH$ dmQ>m {‘imcm Amho ? 
(1) {~hma   (2) CÎma àXoe 
(3) Amo[agm  (4) ‘Ü` àXoe 

 � Which State is receiving the highest share in Central 
taxes and duties and grant in aid according to 13th 
Finance Commission ? 
(1)	 Bihar			 (2)	 Uttar	Pradesh	
(3)	 Orissa		 (4)	 Madhya	Pradesh	

70.  (A) {dH$gZerb XoemV amOH$mofr` YmoaUmMo à‘wI C{Ôï>  
      Jw§VdUwH$sMm Xa dmT>{dUo, ~oamoOJmar d AY©~oamoOJmar  
      H$‘r H$aUo Am{U ^mddmT>rMr àd¥Îmr {Z`§{ÌV H$aUo, ho  
       AgVo. 
(~) amOH$mofr` gmYZmÀ`m eómJmam‘Yrb 'gº$sMm Cn^moJ' 

ho EH$ ZdrZ eó Amho. 
(H$) H$a AmH$maUr ho amOH$mofr` YmoaUmMo à‘wI gmYZ Amho. 
darbn¡H$s H$moUVo/Vr {dYmZ/Z ~amo~a Amho/AmhoV ? 
(1) ’$º$ A Am{U ~  (2) ’$º$ ~ Am{U H$ 
(3) ’$º$ A Am{U H$  (4) ’$º$ ~ 

 � (a)  The main objectives of fiscal policy in the  
case of developing countries are increasing  
the rate of investment, reducing unemployment 
and underemployment and controlling  
inflationary tendencies. 

(b)	 A	 new	weapon	 in	 the	 armoury	 of	 fiscal	 tools	 is	
'forced	consumption'.

(c)	 The	main	instrument	of	fiscal	policy	is	taxation
Which of the statements given above is/are correct ? 

(1)	 Only	a	and	b		 (2)	 Only	b	and	
(3)		 Only	a	and	c		 (4)	 Only	b	

71. Imbrb `mo½` OmoS>çm bmdm : 
 "A'    "~' 
(A) {d^dm§Va  (i) A°ånrAa 
(~) {dÚwVàdmh  (ii) ìhmoëQ> 
(H$) à^ma   (iii) åhmo (mho) 
(S>) H§$S>ŠQ>Ýg  (iv) Hy$b§~ 
n¶m©¶r CÎmao :
  (A) (~) (H$) (S>)
(1)	 (i)	 (ii)	 (iii)	 (iv)
(2)	 (iv)	 (iii)	 (ii)	 (i)
(3)	 (ii)	 (i)	 (iv)	 (iii)
(4)	 (iii)	 (ii)	 (i)	 (iv)

 � Match the following pairs : 
         'A'     'B'
(a)		 Potential	difference		 (i)	 Ampere
(b)	 Current		 (ii)	 Volt
(c)	 Charge		 (iii)	 Mho	
(d)	 Conductance		 (iv)	 Coulomb	
A nswer options :
  (A) (B) (C) (D)
(1)	 (i)	 (ii)	 (iii)	 (iv)
(2)	 (iv)	 (iii)	 (ii)	 (i)
(3)	 (ii)	 (i)	 (iv)	 (iii)
(4)	 (iii)	 (ii)	 (i)	 (iv)

72. ......... ho {H$aUmoËgmamMo Eg. Am`. nÕVrVrb EH$H$ Amho. 
(1) ~o¹o$aob  (2) ê$Xa’$moS>© 
(3) Š`war   (4) M°S>{dH$ 

 � The S. I. unit of radioactivity is 
(1)	 Becquerel		 (2)	 Rutherford	
(3)	 Curie	 	 (4)	 Chadwick	

73. ‘mZdr S>moù`mÀ`m ~mhþbrMm nmaXe©H$ nS>Xm ì`dpñWV 
JmobmH$ma Zgë`mg CX^dUmè`m Xmofmbm ........ åhUVmV. 
(1) A°ñQ>r½‘mQ>rg‘²  (2) hm`na‘oQ´monr`m 
(3) hm`nmo‘oQ´monr`m  (4) àog~m`monr`m 

 � The defect when cornea of human eye is not in 
spherical shape is called 
(1)	 Astigmatism		 (2)	 Hypermetropia	
(3)	 	Hypometropia		 (4)	 Presbyopia	

74. AUwH«$‘m§H$ åhUOo 
(1) àmoQ>m°ZMr g§»`m 
(2) Ý`wQ´m°ZMr g§»`m 
(3) àmoQ>m°ZMr g§»`m + Ý`wQ´m°ZMr g§»`m 
(4) àmoQ>m°ZMr g§»`m + Ý`wQ´m°ZMr g§»`m + BboŠQ´m°ZMr g§»`m 

 � .............. Atomic Number is defined as 
(1)	 Number	of	protons	
(2)	 Number	of	neutrons	
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(3)	 Number	of	protons	+	Number	of	neutrons	
(4)	 Number	of	protons+Number	of	neutrons+	Number	

of	electrons	

75. Imbr {Xbobr amgm`{ZH$ A{^{H«$`m H$moUË`m àH$maMr Amho? 

(1) Ý`wpŠb`mo{’$brH$ g~pñQ>Q>çyeZ 
(2) BboŠQ´mo{’$brH$ g~pñQ>Q>çyeZ 
(3) Ý`wpŠb`mo{’$brH$ A°{S>eZ 
(4) BboŠQ´mo{’$brH$ A°{S>eZ 

 � What type of chemical reaction is given below? 

(1)	 Nucleophilic	substitution	
(2)	 Electrophilic	substitution	
(3)	 Nucleophilic	addition	
(4)	 Electrophilic	addition	

76. Imbrbn¡H$s H$moUVm KQ>H$ h[aV J¥h n[aUm‘mg H$maUr^yV 
R>aV Zmhr? 
(1) H$m~©Z S>m`Am°ŠgmBS> (CO2) 
(2) {‘WoZ (CH4) 
(3) S>m`Zm`Q´moOZ Am°ŠgmBS> (N2O) 
(4) A‘mo{Z`m (NH3) 

 � Which of the following factors is not responsible for 
green house effect ?
(1)	 CO2   (2) CH4

(3)	 N20	 	 (4)	 NH3 

77. Am{H©$AmoßQ>oarŠg hm Imbrbn¡H$s XmoZ dJmªZm OmoS>Umam 
n¥ð>d§er` àmUr hmoVm : 
(1) C^`Ma Am{U garg¥n (2) garg¥n Am{U njr 
(3) njr Am{U gñVZ (4) ‘Ëñ` Am{U C^`Ma 

 � Archaeopteryx was a connecting link between the 
following two classes of vertebrates : 
(1) Amphibia	and	Reptilia	(2)	 Reptilia	and	Aves	
(3)	 Aves	and	Mammalia	 (4)	 Pisces	and	Amphibia	

78.  gaS>çmgmaIo {XgUmao C^`Ma g°b°‘ÊS>a (Salamander) 
.......... JUmV ‘moOVmV. 
(1) OråZmo’$sAmoZm (Gymnophiona)
(2) `wamoS>obm (Urodela) 
(3) A°Ý`wam (Anura)	
(4) AnmoS>m (Apoda) 

 � Lizard like amphibians (Salamander) belong to the 
order 

(1)	 Gymnophiona		 (2)	 Urodela	
(3)	 Anura		 (4)	 Apoda	

79. ‘bo[a`mg H$maUr^yV R>aUmè`m ßbmO‘mo{S>`‘Mm ........ 
’$m`b‘ ‘Ü`o g‘mdoe Amho.
(1) AmWm}nmoS>m (2) A°{Z{bS>m 
(3) ßb°Q>rhob{‘ÝWg  (4) àmoQ>moPwAm 

 � Malaria is caused by Plasmodium that is included 
into phylum .............. 
(1) Arthropoda  (2) Annelida 
(3)	 Platyhelminthes		 (4)	 Protozoa	

80.  J§YH$ (gë’$a) `m nmofU ‘ybÐì`mnmgyZ ~Zbobr A{‘Zmo 
Amåbo H$moUVr ? 
(1) ë`y{gZ Am{U Am`gmoë`y{gZ 
(2) {‘{WAmoZmBZ² Am{U {gñQ>rZ 
(3) A°gnmQ>uH$ A°{gS> Am{U ½byQ>m‘mB©Z 
(4) ìh°{bZ Am{U ½byQ>m{‘H$ A°{gS> 

 � Which of the following are Sulphur (S) element 
containing amino acids ? 
(1)	 Leucine	and	Isoleucine	
(2)	 Methionine	and	Cysteine	
(3)	 Aspartic	acid	and	Glutamine	
(4)	 Valine	and	Glutamic	acid 

81.  Am`Šba (1813) à‘mUo ~«m`mo’$m`Q>m {d^mJ Hw$R>ë`m ^mJmV 
Amho ? 
(1) Šbmg hrnoQ>rgr Am{U ‘gm` 
(2) Šbmg hrnoQ>rgr Am{U A°ÝWmogramoQ>r 
(3) Šbmg hrnoQ>rgr ’$º$ 
(4) Šbmg A°ÝWmogramoQ>r Am{U ‘gm` 

 � According to Eichler (1813), division of Bryophyta 
is divided into 
(1)	 Class	Hepaticeae	and	Musci	
(2) Class Hepaticeae and Anthocerotae 
(3)	 Class	Hepaticeae	only	
(4) Class Anthocerotae	and	Musci	

82. dZñnVremómMr n{hbr OmJ{VH$ n[afX ......... ̀ oWo ̂ abr. 
(1) bo{ZZJ«mS> -1837  (2) n°[ag - 1867 
(3) A‘o[aH$m - 1930  (4) pìhEÞm - 1867 

 � First International Botanical Congress was held at 
(1)	 Leningrad	-1837		 (2)	 Paris	-	1867	
(3)	 America	-	1930		 (4)	 Vienna	-	1867	

83. EM. Am`. ìhr./ES²g Mm àgma Imbrb nÕVrZo H$miOr 
KoVë`mg Wm§~{dVm `oVmo 
(A) aº$XmË`m§À`m aº$mMr MmMUr. 
(~) b¢{JH$ g§~§YmXaå`mZ H$miOr KoUo Am{U b¢{JH$ amoJm§Mm 

`mo½` CnMma H$aUo. 
(H$) EH$‘oH$m§À`m gw`m Z dmnaUo. 
(S>) `mo½` Am¡fYmonMmamZo AmB©H$Sy>Z ~mimH$S>o amoJmMo g§H«$‘U 

Q>miUo. 
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n¶m©¶r CÎmao :
(1) darbn¡H$s A Am{U ~ 
(2) darbn¡H$s A, ~ Am{U H$ 
(3) darbn¡H$s gd© 
(4) darbn¡H$s ~ Am{U S> 

 � The main ways of controlling the spread of HIV/-
IDS are 
(a)	 Screening	of	donated	blood	
(b)	 Promotion	of	safe	sexual	practices	and	treatment	

of	other	sexually	transmitted	infections.	
(c)	 Avoidance	of	needle	sharing.	
(d)	 Prevention	 of	 mother-to-child	 transmission	 with	

antivirals.	
A nswer options :
(1)	 a	and	b	above		 (2)	 a,	b	and	c	above	
(3)	 All	of	the	above	 (4)	 b	and	d	above	

84. OmJ{VH$ Amamo½` g§KQ>ZoZwgma, à{WZo d COm© `m‘wio hmoUmao 
Hw$nmofU hm àJ{Verb Xoem§À`m gmd©O{ZH$ Amamo½`mMm gdm©V 
‘hËdmMm àíZ Amho H$s {OWo ZdOmV ~mbH$m§Mm ‘¥Ë`yXa 
IynM Amho. 
Imbrbn¡H$s H$moUË`m AdñWo‘Ü`o ZdOmV ~mbH$m§Mr COm© d 
à{WZo `m§À`m Hw$nmofUm‘wio Ajae… Cnmg‘ma hmoVo d Ë`m§À`m 
earamda gyO ZgVo ? 
(1) ¹$m°{eAmoaH$moa  (2) ‘m°añ‘g 
(3) JmbJw§S>  (4) Jmoda 

 � According to WHO, protein-calorie malnutrition 
is the most important public health problem in 
developing countries where the rates of infant 
mortality are very high. 
Which of the following is a condition in which the 
infant is virtually starving due to lack of calories and 
proteins and there is no edema ? 
(1)	 Kwashiorkor		 (2)	 Marasmus	
(3)	 Mumps		 (4)	 Measles	

85. ........... `m amoJmda ~r.gr.Or. hr à{V~§YH$ bg åhUyZ 
dmnabr OmVo. 
(1) j`amoJ  (2) Q>m`’$m°B©S> ({df‘Áda)
(3) H$m°bam  (4) H$mdri 

 � B.C.G. vaccine is used for protection against ........
(1)	 Tuberculosis		 (2)	 Typhoid	
(3)	 Cholera		 (4)	 Jaundice	

86. àíZ{MÝhmEodOr R>odÊ¶mgmR>r dUm©ja {ZdS>m.

(1) R (2) F (3) L (4) B

 � Select the alphabet for replacing the question mark. 

(1) R  (2) F
(3) L  (4) B

87. S>mdrH$S>o Xe©{dboë`m nmaXe©H$ H$mJXmMr ~mUm§Zr 
XmIdë`mZwgma KS>r KmVë`mZ§Va Vr Oer {Xgob, Vr 
Xe©{dUmam n`m©` {ZdS>m. 

(1)

  

(2)

 

(3)

  

(4)

 

 � Select the option that would look like the left hand 
transparent paper sheet after folding it as shown by 
the arrows. 

(1)

  

(2)

 

(3)

  

(4)
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88. nwT>o {dYmZo Am{U {ZîH$f© `m§Mo g§M {Xbo AmhoV. {ZîH$fmªMo 
`mo½` dU©Z H$aUmam n`m©` {ZdS>m. 
{dYmZo : 
gd© ’$io ^mÁ`m AmhoV. 
gd© ^mÁ`m ’$io AmhoV. 
H$mhr Ia~wOo ’$io AmhoV. 
{ZîH$f©:  
(A)  gd© ^mÁ`m Ia~wOo AmhoV. 
(~) gd© ’$io Ia~wOo AmhoV. 
(H$) gd© ^mÁ`m ’$io AmhoV. 
(S>) H$mhr Ia~wOo ^mÁ`m AmhoV. 
n¶m©¶r CÎmao :
(1) {Xboë`m {ZîH$fmªn¡H$s EH$hr VH©$g§JV Zmhr 
(2) {Xbobo gd© {ZîH$f© VH©$g§JV AmhoV 
(3) ’$º$ H$ hm {ZîH$f© VH©$g§JV Amho 
(4) H$ Am{U S> ho XmoÝhr {ZîH$f© VH©$g§JV AmhoV 

 � Given below are sets of statements and conclusions. 
Select the option that describes the conclusions 
correctly. 
Statements : 
All	fruits	are	vegetables.	
All	vegetables	are	fruits.	
Some	melons	are	fruits.	
Conclusions : 
(a)	 All	vegetables	are	melons.	
(b)		 All	fruits	are	melons.	.	
(c)	 All	vegetables	are	fruits.	
(d)	 Some	melons	are	vegetables.
A nswer options :
(1)	 None	of	the	given	conclusions	follow	
(2)	 All	of	the	given	conclusions	follow	
(3)	 Only	conclusion	c	follows	
(4) Both	conclusions	c	and	d	follow	

89. n{hë`m ñV§^mVrb eãX Xwgè`m ñV§^mV g§Ho$V ñdénmV {b{hbo 
AmhoV, na§Vw Vo Ë`mM H«$‘mZo {b{hbobo ZmhrV. D `m AjamMm 
g§»`m g§Ho$V H$moUVm ? 
BRAIN	13529		 DRAIN	35293	
RIVER	13754		 DRIVE	83754	
n¶m©¶r CÎmao :
(1) 2   (2) 4 
(3) 7   (4) 1 

 � The words in the first column are listed in the coded 
forms in the second column but they are not in the 
same order. What number code is assigned for the 
letter D? 
BRAIN	13529		 DRAIN	35293	
RIVER	13754		 DRIVE	83754	
A nswer options :

(1) 2   (2) 4
(3)	 7		 	 (4)	 1	

90. MyH$ OmoS>r emoYm.

(1) a, e   (2) b,	c
(3) b,	e   (4) a, d 

 � Find the correct pair. 

(1)	 a,	c	 	 (2)	 b,	c	
(3)		 b,	e		 	 (4)	 a,	d	

91. nwT>o H$mJXmMo VwH$S>o {ZX}{eV H$aUmao nmM n`m©` {Xbo AmhoV. 
`mVrb H$moUVo VrZ EH$‘oH$m§V OwidyZ g‘^wO {ÌH$moUr joÌ 
{Z‘m©U H$aVm `oB©b ? 

(1) a,	b,	c	 (2) a, c, d 
(3) b,	c,	d	 (4) b,	d,	e	

 � Given below are five alternatives that represent 
paper cut-outs. Which three of these can be fitted to 
create equilateral triangular area? 

(1)	 a,	b,	c		 (2)	 a,	c,	d	
(3)	 b,	c,	d		 (4)	 b,	d,	e	

92.  {Xboë`m gm‘J«rÀ`m g§X^m©V nwT>rb àíZmMo CÎma XoÊ`mgmR>r 
C{MV n`m©` {ZdS>m. 
EH$m KZmMr n¥ð>o ghm {^Þ a§Jm§Zr a§Jdbobr AmhoV. {Zù`m 
a§JmÀ`m n¥ð>mg‘moa {ZpíMVnUo H$moUË`m a§JmMo n¥ð> Amho? 

(1) ’$º$ gm‘J«r A nwaoer Amho. 
(2) ’$º$ gm‘J«r B nwaoer Amho.
(3) gm‘J«r A Am{U B XmoÝhr nwaoer Zmhr.
(4) gm‘J«r A Am{U B XmoÝhr EH${ÌVnUo nwaoer Amho.
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 � Select the option appropriate for answering the 
following question with respect to the given data. 
Surfaces of the cube are coloured with six different 
colours. What coloured surface is definitely opposite 
to the blue coloured surface ? 

(1)	 Only	data	A	is	sufficient.
(2)	 Only	data	B	is	sufficient.	
(3)	 Data	A	and	B,	both	are	not	sufficient.	
(4)	 Data	A	and	B,	together	is	sufficient.

93. H$moUVm {Xdg EH$m {XdgmZ§Va {Vgam ̀ oVmo, Omo EH$m {XdgmZ§Va 
Xwgam `oVmo, Omo EH$m {XdgmZ§Va bJoM `oVmo, Omo gmo‘dmaZ§Va 
Xwgam `oVmo? 
a{ddma, gmo‘dma, ‘§Jidma, ~wYdma, Jwédma, ewH«$dma, e{Zdma 
(1) a{ddma  (2) gmo‘dma 
(3) ‘§Jidma  (4) ~wYdma 

 � What day comes third after the day which comes 
second after the day which comes immediately after 
the day which comes second after Monday ? 
Sunday,	 Monday,	 Tuesday,	 Wednesday,	 Thursday,	
Friday,	Saturday	
(1)	 Sunday		 (2)	 Monday	
(3)	 Tuesday		 (4)	 Wednesday	

94. Oa p > q Am{U r < 0, Va nwT>rbn¡H$s H$moUVr amer gË` 
Amho? 
(1) pr	<	qr	 (2) p	+	r	<	q	+	r	
(3) p	-		r	<	q	-	r	 (4) H$moUVrhr gË` Zmhr 

 � If p > q and r < 0, then which of the following 
expressions is true? 
(1)		 pr	<	ar		 (2)	 p	+	r	<	q	+	r	
(3)	 p	-	r	<	q	-	r		 (4)	 None	is	true	

95.  Oa ‘bm AmUIr EH$ ^mD$ AgVm, Va ‘bm ~{hUtÀ`m XwßnQ> 
^mD$ Agbo AgVo. Oa ‘bm AmUIr EH$ ~hrU Agbr AgVr, 
Va àË`oH$mMr g§»`m g‘mZ Pmbr AgVr. Va ‘mÂ`m ^mdm§Mr 
Am{U ~{hUtMr g§»`m AZwH«$‘o Xe©{dUmam n`m©` {ZdS>m. 
(1) 2, 3   (2) 3, 2 
(3)  2, 2   (4) 3, 3 

 � If I had one more brother I would have twice as 
many brothers as sisters. If I had one more sister I 
would have same number of each. Select the option 
that indicates number of brothers and sisters that I 
have respectively. 
(1) 2, 3   (2) 3, 2 
(3)  2, 2   (4) 3, 3 

96. A `m XoemÀ`m hëë¶mnmgyZ B Am{U C `m XmoZ Xoem§Zr 
EH${ÌVnUo g§ajU Ho$bo. B À`m g¡{ZH$m§Zr àË`oH$s AmR> Jmoù`m 
PmS>ë`m, Va C À`m g¡{ZH$m§Zr àË`oH$s Mma Jmoù`m PmS>ë`m. 
PmS>boë`m EHy$U Jmoù`m§Mr g§»`m B Am{U C À`m EHy$U 
g¡{ZH$m§À`m ~oaOoÀ`m AmR>nQ>rÀ`m VwbZoV 100 Zo H$‘r ^abr, 
Va `m g§`wº$ g§ajU AmKmS>rda C Mo {H$Vr g¡{ZH$ hmoVo? 
(1) 25   (2) 50 
(3) 80   (4) 100 

 � Countries B and C had joined together to defend the 
attack by country (a) Each soldier from B fired eight 
bullets while each soldier from C fired four bullets. 
If the total number of bullets fired is less by 100 
compared to eight times that of the total number of 
soldiers of B and C, then how many soldiers from C 
were there on the front of this joint defence ? 
(1) 25   (2) 50 
(3)	 80		 	 (4)	 100	

97. 16 dñVy§Mo gamgar dOZ 32 AmT>ibo. nwÝhm VnmgUr Ho$br, 
Voìhm XmoZ dñVy§Mo dOZ AZwH«$‘o 34 Am{U 26 À`m EodOr 24 
Am{U 16 Ago Zm|Xdbobo AmT>ibo. 
{Xboë`m n`m©`m§VyZ AMyH$ gamgar {ZdS>m. 
(1) 29.50  (2) 33 
(3) 33-25  (4) 32.50 

 � The mean weight of 16 objects was found to be 32. 
On rechecking, it was found that weights of two  
objects were noted as 24 and 16 instead of 34 and 26 
respectively. 
Select the correct mean from the given options. 
(1)	 29-50		 (2)	 33	
(3) 33.25  (4) 32.50 

98. Oa JmS>rZo ñdV…Mr JVr Vmer 5 {H$‘r Zo dmT>dbr AgVr, Va 
210 {H$‘r àdmgmbm EH$ Vmg doi H$‘r bmJbm AgVm. Va 
JmS>rMm gwédmVrMm àdmgmMm doJ {H$Vr hmoVm ? 
(1) 28 {H$‘r Vmer (2) 32 {H$‘r Vmer 
(3) 30 {H$‘r Vmer  (4) 35 {H$‘r Vmer 

 � If a car had increased its average speed for a 210 km 
journey by 5 kmph, the journey would have been 
completed in one hour less. What was the original 
speed of the car for the journey? 
(1)	 28	kmph		 (2)	 32	kmph	
(3)	 30	kmph	 (4)	 35	kmph	

99. Imbrb e¥§Ibm nyU© H$am : 
RTNP	:	JLFH	:	:	XZTV	:	?	
(1) LRNP	 (2) PNRL	
(3) RNPL  (4) PRLN 

 � Complete the following series : 
RTNP	:	JLFH	:	:	XZTV:	?
(1)	 LRNP		 (3)	 RNPL	
(2)	 PNRL		 (4)	 PRLN	
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100. nwT>rbà‘mUo eãXg‘yh Am{U g§Ho$V {Xbo AmhoV : 
"facing	 problem	 with	 health" `m eãXg‘yhmMm g§Ho$V 
"blawhipnkywl" Agm Amho, "health	problem	on	rise"	Mm 
g§Ho$V "grnywlbuebla" Agm Amho Am{U	"rise	with	every	
challenge" Mo g§Ho$V "rdpnkbuegre"	Agm Amho. "facing	
challenge	every	day" `m g‘yhmgmR>r gdm©V VH©$g§JV g§Ho$V 
{ZdS>m. 
(1) ywlrdwhigre  (2) whiblagrerd 
(3) rdbuepnkgre (4) gremgtwhird 

 � Group of words and their codes are given as follows: 
"facing	 problem	 with	 health"	 as	 "blawhipnkywl",	
"health	problem	on	 rise"	as	"grnywlbuebla"	and	"rise	
with	 every	 challenge"	 as	 "rdpnkbuegre".	 Select	 the	
code	for	facing	challenge	every	day.	
(1)	 ywlrdwhigre		 (2)	 whiblagrerd	
(3)	 rdbuepnkgre		 (4)	 gremgtwhird

 
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Ans 1 2 3 4 5 6 7 8 9 10

1 4 4 # 4 4 1 1 4 1 4

11 1 2 4 # 1 4 3 1 2 1

21 1 4 2 4 4 4 2 2 1 2

31 4 4 1 4 1 # 2 1 3 3

41 3 3 4 # # 4 4 4 3 1

51 3 1 3 4 4 4 4 2 4 2

61 1 3 2 1 4 3 1 3 2 3

71 3 1 1 1 2 4 2 2 4 2

81 1 2 3 2 1 3 4 4 4 3

91 3 3 3 1 2 1 3 3 4 4

# Zo Xe©{dcoë¶m àíZ aÔ H$aÊ¶mV Amcoco AmhoV. 
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